

$$\boxed{\phantom{00}} - \frac{13}{1} = \frac{10}{1}$$

$$\frac{20}{1} \quad \frac{10}{1} \quad \frac{13}{1} \quad \frac{23}{1}$$

$$\frac{5}{6} + \frac{11}{6} = \boxed{\phantom{00}}$$

$$\frac{10}{6} \quad \frac{16}{6} \quad \frac{6}{6} \quad \frac{12}{6}$$

$$\frac{7}{4} - \frac{3}{4} = \boxed{\phantom{00}}$$

$$\frac{1}{4} \quad \frac{3}{4} \quad \frac{4}{4} \quad \frac{2}{4}$$

$$\frac{86}{58} \quad \boxed{\phantom{00}} \quad \frac{53}{58} = \frac{33}{58}$$

$$\boxed{+} \quad \boxed{-} \quad \boxed{\times} \quad \boxed{:}$$